HIWIN.

Linear Motion Products & Technology

EE 8| ¥ 28 A Single Axis Robot

¥iFM Technical Information

www.hiwin.com.tw
www.hiwinmikro.com.tw



Linear Motion Products & Technology

ES R AR A

Single Axis Robot

m

S




1.1 1514

O REtRZEES

O B EEE

O =RE

O =t

O EcfrE=

OF 1|45
BB BRTRDI - FEIREHIE
BEE - SiTulaEmmL :

HIWIN.
K02TC02-0807

B \RBERS < BETE » HIRKRERUVEZRITBIESHEMN - B » BERRRRIKFE ZEEIZIE

RARIEBE BS/BIE -

Taiwan Patent No. 183022
China Patent No. 481446

USA Patent No. 6584868
Germany Patent No. 20117489.8




2

HIWIN.
K02TC02-0807

1.2 EmIYE

KK 60 10 P

|
KK 33
RY

40, 50, 60, 86,
100,130

RIRIRIR(BS)EAZ —
KK40: 1

KK 50 : 2

KK60: 5,10

KK 86 : 10, 20

KK 100 : 20

KK 130 : 25

BES
P: %R, C

: — AR

E: RIRIRIERIAINT ———
HECHR . IRIKIRIRIRAERY

400

BERE (mm)
KK40 : 100, 150, 200
KK50 : 150, 200, 250, 300

KK60 : 150, 200, 300, 400, 500, 600
KK86 : 340, 440, 540, 640, 740, 940
KK100 : 980, 1080, 1180, 1280, 1380

KK130 : 980, 1180, 1380, 1680

E : PUBHRIAINIT
HSOER - PUBREER

A

FO C

S

@Aﬂiﬁﬁﬁaﬁﬁﬁ
REMHREE

: Omron SX671

: Omron SX674

: SUNX GL-12F

: SUNX GL-N12F-PX10

: BEER
nﬂsfé ﬂi\

,\Eﬂzu:n
. [RifEEE
F‘BE}E ﬁ.ﬁnzm

BEBELHE  3EH-98
FE : 5K 00LT

E : JBEEAFFAINT
HECHR ¢ BEERERY

U) -l-\(aJl\)—‘D

BEEEE 1,2

BRI, :
A FEEERY
S . EeER



HIWIN.
K02TC02-0807 3

1.3 BEXEE

RIE BIRIRIEEE #MEREL2 HE (mm/sec)
=250%
(mm) (mm) FEEHR — R
100 190 190
KK40 01 150 190 190
200 190 190
150 270 270
200 270 270
KK50 02
250 270 270
300 270 270
150 550 390
200 550 390
300 550 390
05
400 550 390
500 550 390
600 340 340
KKé60
150 1100 790
200 1100 790
300 1100 790
10
400 1100 790
500 1100 790
600 670 670
340 740 520
440 740 520
540 740 520
10
640 740 520
740 740 520
940 610 430
KK86
340 1480 1050
440 1480 1050
540 1480 1050
20
640 1480 1050
740 1480 1050
940 1220 870
980 1120 800
1080 980 800
KK100 20 1180 750 750
1280 510 630
1380 440 530
980 1120 800
1180 1120 800
KK130 25
1380 830 800

1680 550 550



HIWIN.
K02TC02-0807

1.4 BERS

=1
74T -7
[ e
l ‘Tl’l" Lrl*r‘ ’
TRIRIRIE
s i B0E BE BE BB
B m B EBE T8E TAET EaH M. (
- (N) (N) (N) (N) ¥
(mm) (mm)
JBEE BEE BEE BEE BEE JBREE
A S A S Al A2
BRI 735 1538
KK4001 8 1 3920 - 6468 - 33 182
— iR 676 1284
EZR 2136 3489
KK5002 8 2 8007 - 12916 - 116 278
— R 1813 2910
1R 3744 6243
KK6005 5
— kiR 3377 5625
12 13230 7173 21462 11574 152 348
YEZIR 2410 3743
KK6010 10
— kiR 2107 3234
R Thh 12642
KK8610 10
— %R 6429 11387
15 31458 - 50674 - 622 3050
R L645 7655
KK8620 20
— iR iR 175 6889
SR 7046 12544
KK10020 20 20 39200 - 63406 - 940 4763
— %R 4782 9143
BRI 7897 15931
KK13025 25 25 48101 - 84829 1536 7350
— iR iR 7092 14352

IRIEBE

BEFEEI%E

N-m) My (N-m) Mg (N-m)

BEE JBEE JBEE JBEE JBEE JBRE JBEE JBEE JBEE JBEE

ST S2 Al A2 S1 S2 A1 A2 S1 S2
= - 33 182 - - 81 162 - =
- - 16 278 - - 222 44h4 - -
72 205 152 348 72 205 419 838 241 482
= - 622 3050 - - 1507 3014 - =
= - 960 4763 - - 2205 4410 - =
= - 1536 7350 - - 38857770 - =



1.5 BEFR

BUgR

KK40

KK50

KKé0

KK86

KK100

KK130

100
150
200
150
200
250
300
150
200
300
400
500
600
340
440
540
640
740
940
980
1080
1180
1280
1380
980
1180
1380
1680

EMIERE
Bk R

+0.003  *0.01
+0.003  *0.01
+0.003  *0.01
+0.003  *0.01
+0.003  *0.01
+0.003  *0.01
*0.003  *0.01
+£0.005  +0.01
£0.005  *0.01
£0.005  *0.01
+0.005  +0.01
- £0.012

ENRE

BEIR

0.020

0.020

0.020

0.025

0.025

0.030
0.040

0.035

— %R

TEFITE
BER R
0.010

0.010

0.010

0.015

0.015

0.020
0.030

0.025

0.035
0.035
0.04

0.025

0.03

HIWIN.
K02TC02-0807

BEfil : mm

ERKEEENHT] (N-cm)

BEIR

15

15

15

17
25

17

20
23
25
25

25

27

— %R

0.8

5



6

HIWIN.
K02TC02-0807

1.6 HEHBEBFLER

1.6.1 KKFZAZNNEEEE

B
O BERTRIEER
O ¥8E : 20~25pm (300mmBELA)

O EIRBE 20~25pm (300mmAA)

O BXEE 30~120mm/s
O #77 150~600N
O FRPIREIRIFIE

JIlIEdosbe ikt nt

KK 2 - 60 10 P

KKZR

AR

TERGE ¢ ALHY
1: /%E

2: FBEAREE) =S
3: F5:E - REEN=sAN

Bz

Re:— |
40, 50, 60, 86, 100, 130

FIRIFIRERE : ——
KK40: 1

KK 50 : 2

KK 60:5, 10

KK 86 :10, 20

KK 100 : 20

KK 130: 25

BESMR :
P: ¥EEHR - C: —A%R

C SO

SiBPRF R

S0: R BHHRENE
1:0mron SX671
2 : Omron SX674

4 : SUNX GL-12F

L ZE=

=z
AR
C:imE&E

B : {HfE-ES
HEOIR - EEE

smPZom

— BEEEAW

(BE%F6-98]

E: JBEEFFRRII T
HECHE - 1RMERY

PO 2] <
HECHR - IR

MEEE (mm)
KK40 : 100, 150, 200

KK50 : 150, 200, 250, 300

KKé60 : 150, 200, 300, 400, 500, 600
KK86 : 340, 440, 540, 640, 740, 940
KK100: 980, 1080,1180, 1280, 1380
KK130: 980, 1180, 1380, 1680

D1: &
D2 : [BARESIE

BEEER

M1 : 353
M2 : [BRGE

BRER -
AR
S+ SRR

TBEERE < 12

3 : Inductive Proximity

5: SUNX GL-N12F-PX10



1.6.2 {ERABERBEEZER

HE R

AC [EIRFS3E

Nemal7
Nema23
Nema34

VEXTA

Nemal7
Nema23

Nema34

BN

MSM3AZ(30W)
MSM5AZ(50W)
MSMO1(100W)
MSM02(200W)
MSMO4(400W)
MSM08(750W)
HC-PQ033(30W)
HC-PQ053(50W)
HC-PQ13(100W)
HC-KFS053(50W)
HC-KFS13(100W)
HC-KFS23(200W)
HC-KFS43(400W)
HC-MF73(750W)
SGMAH-A3(30W)
SGMAH-A5(50W)
SGMAH-01(100W)
SGMPH-01(100W)
SGMAH-02(200W)
SGMAH-04(400W)
SGMPH-02(200W)
SGMPH-04(400W)
SGMAH-08(750W)

PK24
PK26
PK29
PK54
PK56
PK59

KK40

F2

F1

F1

F3

F3

F3

KK50

F2

F1

F1

F1

F3
(F-E2)

F3
(F-E2)

F3
(F-E1)

73
(F-E2)

KKé0

F2

F1

F1

F1

F5
F4

F5
F4

F5

F5
F4

KK86

F3

F1

F4

F2

F2

FO

F2

FO

Fé

Fé

F5

Fé

KK100

F2

FO

F1

FO

F1

Fa4

F4

F3

F4

HIWIN.
K02TC02-0807

KK130

F4

F1

F2

F1

FO

F2

F3



HIWIN.
8  Ko2TC02-0807

1.6.3 BEEIZ LR
KK40

Motor Adagtor Flange FO Motor Adaptor Flange F2
12 25

49 8.5
4-M3x0.5Px8.5DP
TW‘ PCD29  4-M3x0.5Px6DP ~ 135 X0.5Px CD45
-8

" | ; @l T
e PN BLLFe | ﬁ%/

_
I
@4‘m
@20H7 ‘
30
RN
\
)
/
e |

T

038

13

0.5

Exa)

&
f s

B

& o
f300| A
0e

=N
Motor Adaptor Flange F1 Motor Adaptor Flange F3
49 85 4-M4x0.7Px8.5DP ,PCD46 49 L5 31 4-23.4Thr,
‘ ‘ Alk¥ & % ) - ~ 2 6x3.5DP
$ — fTO g W % @ H% r- HEA N %N 4-M3x0.5PxThru
I RS ) “E T8N A e
B L |88 | B LR T

KK50

Motor Adaptor Flange FO Motor Adaptor Flange F2
60
14 16_534 PCD33 4-M3x0.5PX6DP 60 8.5 PCD45  4-M3x.5PXEDP
85 3
eyl ; /Nﬁ i I ‘ /\ﬁ
gy LR T [ |
8 91 i k N ‘ |8 O
7777777 = NN R A p— | SEES S N1 @
Motor Adaptor Flange F1 Motor Adaptor Flange F3
60 8.5 PCD46  4-M4x.7Px8DP 49 4-@3.4Thru,
| 3 60 r 3 @6x3.5DP
—ﬂﬁ — > ﬁ* T ‘ T
i 14 o i _ & )
_ g (=R } §o 2 / _ g N i éo ol 4-M3x.5Px7Thru
i 1;] ! § O \ Z i } g |9 [+ +1
— I {EEEEEEE == B — L mi
~— v L 4 %
Motor Adaptor Flange FO Motor Adaptor Flange F3
18.5 1?20-5 PCD40  4-Mdx 7Px8DP % f,k VO 8Px100P
— (A e § [ \ —{ }3, g% 8
A ® IS . %/ s §| -
] % N
! 4-M3x.5F"x8DP
Motor Adaptor Flange F1 Motor Adaptor Flange F4
59 103 PCD46_ 4-Mdx.7Px10DP 59 10
- o| 8|0
Motor Adaptor Flange F2 Motor Adaptor Flange F5
59 o PCD45 4-M3x 5Px10DP - . S Gaamn"
—l A 858 —=1 i=N 5 . 2
A ]

4-M3x0.5PThru



HIWIN.
K02TC02-0807 9

KK86

Motor Adaptor Flange FO
87
23 50
28 N
5] % 4-M4x0.7Px8DP 85
v = 5 z \%
:f:j e i ﬁgg o
I e s <
N B B 1 2/
35 || -
4-M5x0.8Px10DP
Motor Adaptor Flange F1 Motor Adap;cor Flange F4
7 12
23 8570 10 23 50
28 85 |28 _
8] 18]
— I
e = T e 4
i{ s S L Y ° b = g8
1 R / Il SRS O
I ! 8 R E— [ i
[ 1 & ? i
4-M4x0.7Px8DP ° 35 | L» P4C-I\Dnggo.8px1oop
Motor Adaptor Flange F Motor Adaptor Flange F5
87 8 87 8
23 50 23 50 85
28 85
18] | ] 0
iy e % iy L T | %
,,,,, | lwiﬂg:@ ~ I —_— — }‘ g ©| o @ ?
= =158 8 — =it EERERS ek
r ST /;7, }‘, 8% U é Q@ ®
— [ L =+ & ] e [N L N | |
4-M4x0.7Px8DP | 4-M4x0.8Px8DP  «|
Motor Adaptor Flange F3 Motor Adaptor Flange Fé
23 8570 : & &
23 50 85
85
ff_& Eix | 47;14 |
ﬂv | iHe ATHJ = B 1\g
jma— = ilse|g e —_— Ll T8 ‘ 3
— i e m H gl8- 1 5
— i I Il St . /? : ‘
4-‘M’71x0.8Px8DP j
Motor Adaptor Flange FO
94
27 45
32 99
4-M5x0.8Px10 DP =
22 ~ P.C.D. 70 75
&
T S T —H 5
ﬁfu ES 8 f 3
— pre1ie o Bzl
Motor Adaptor Flange F1 Motor Adaptor Flange F3
94 12 4-Méx1Px12 DP 94 12 82
‘ 35 P.C.D.90 80 2.5 4-M6x1Px12 DP
-
I I % ]
1 = | S
| Tl o 52 o NIEER
R =S aR= - S = s
= R S & i ! B = 777777\,‘ S L
| P
L ﬁ = | *
Motor Adaptor Flange F2 Motor Adaptor Flange F4
%4 z 4-M5x0.8Px12 DP 94 12 82
35 _P.C.D.90 80 2.5 4-M6x1Px12DP ‘ 69.58 ‘
— = 2 j i N [ I — °s 5
] ~ M1 3o . S
= K o /@\ 1 L |l g % [
TS g N (&) 1k Ip SIEE
- -4 ‘7 ™, o) oo o) L:°> - 7‘7 E
L = L




10

HIWIN.
K02TC02-0807

KK130

Motor Adaptor Flange FO
100 128
838 35 g-Méx1Px12DP o
29
16 £
U s
— W 3Z =
| =[S ml
————— ™| —
o
Motor Adaptor Flange F1
4-M5x0.8Px12DP 128
100 12 - 92
I —
U J \N/L ‘ 1 &)
— - Cf@? 3 / \ _
YA 4 &
b/ )
QQ’
Motor Adaptor Flange F2
100 15 4-(6.5x15DP 128
3.5 92
U J ~———% 1 %
_:ijf e S4y s _
g o |®
p—— E S |— )ﬁ(
f QO\Q == Y
Q(J

69.58

Motor Adaptor Flange F3
100 12 4-M6x1Px12DP 19228
3.5 69.58
Ry
— R @
— O P ,
=HE g @
***** I N
l—ﬁ—l
f
Motor Adaptor Flange F4
100 12 4-M5x0.8Px12DP 128
3.5 92
le~
_ | Hﬂ, g 25y = AR

450



1.7 Mi45EAD

1.7.1 BHEEE

HIWIN.
K02TC02-0807

11

RY MERE
150
200
300
400
500
600
340
440
540
640
740
940

KK60

KK86

1.7.2 15 R
BEHER

RK1TiE

56

106
166
234
306
366
188
260
336
408
480
640

£iid

0.8

TSN

i

RIBEE SAHERE
16 80
20 126
40 206
56 290
70 376
90 456
36 224
50 310
62 398
76 484
90 570
110 750

8

4.2

=
. L

24

RY
KK50
KK60
KK86
KK100

84

110

b
45.5
61
a b
45.5 3
51 63.8
63.5 76.7
Al 84

PR 1 : Omron EE-SX671

RY
KK50
KK60
KK86
KK100

a b
41.3 48
46.2 52.8
59 65.7
66 73

MEPR2 : Omron EE-SX674

RY
KK50
KK60
KK86
KK100

9
39.5
445
57
64.5

h
5.7
9
13
15

BEfil : mm
d
54
75
d e f
10 15 1"
14.5 8 13
18 8 18
20 9 20
d e f
10.5 10.2 n
14 3.2 13
18 3 18
20 4.2 20
i i
7 19.5
2 9
1 13
25 15

HRPR3, 4 : SUNX GL-12F, GL-N12F-PX10



HIWIN.
12 kozrcoz-0807

IRITBE  RIKIRIERMER=EEZRETH - BESMAETEATT:

1.8.1 #RIEBEN
ioc L EEE® (ASkm) C | EXBEESHEN
L:(Z — )x50 km  j BEER(SERE) P, TEEEN)
fo: BTN (BERE)

81

BRI, EERE /,

A1, 51 1.0

A2,52 0.81
82

el BERE /,

BER RE () ‘
mEEHEYE {3V < 15m/min 10~15
EEpe=LCIvA FR3%15 <V < 60m/min 15~2.0
ZERTIRIRED SIEV > 60m/min 20-35

1.8.2 RERISHE B2 Efi

1 C L : ZBE=an (eEg C, : BEXEEEEER(N]
L= (f_ P ) x 10°rev S BREIFRE (BBRK2) Py, : BB TAEETEI(N)

1.9 &g

EREBEE - SET0ASHFBBEE—R -

TBEEEN
\ \
0 lLel+«]e ]|
S [elel& | F
N \
Grease nipple
SRR Grease nipple
[ | | ‘
0 Lelele e[+ | §
Eh elele i oo @ ‘]

Grease nipple



1.10 ESER#Es AR T ER8A

1.10.1 ASE=

KK40

HIWIN.
K02TC02-0807

58 4-M3x0.5Px4.5DP
25 33 2xn-@3.4Thru, 26.5x3DP
2x2-M2.6x0.45Px4DP. —20
10x1.2DP 5
26 /L .
18 & I / | |
T Ly fpeelepl e die T
E — 2 1= 2 - L — - o
I ; ngl e g [y = = &
i - 4 e i P © O ¢ —
18 _|_11 i /| il 1
40 T 2.M2.6%0.45%4.5DP 6
A-A L2
L1
49
PCD29 4-M3x0.5Px6DP 12 25
14.5
— 10 8]
g// \\ \% = A N~
R s, e o
B An f AR T [ =
View B f " \_A. 60 G
(n-1)x60
ERE L2 RAITIZE (mm) S (ko)
ZR L1 (mm) . - G (mm) n (mm) - .
(mm) A1 BEE A2 SBRE A1 BEE A2 SBEE
100 159 36 - 20 2 0.48 -
150 209 86 34 15 3 0.6 0.67
200 259 136 84 40 3 0.72 0.79
KK50 5
2xn-B4.5Thru, 47
& 8x4DP ‘ ‘ | 30
2x2-M2.6x0.45Px4DP 15x1.3DP 4-M4x0.7Px6.5DP
35 ¥ £ ‘ 1T
=25 ‘ p @ @ I m,i\@ (e ¢ ngjv ® _
o AY etk = | Sl LS
AN qf < Q“J * @f &/ | &1 ¢ :ﬁj@gL_“’
2 125 ‘ 2M3x0.5Px4DP 5.7
50 K G
‘ L2
A-A
L1
60
34
PCD33 1165,
10
] 2
“ 1 o[ ViewB
1S :
!
View B
NERE 2RI BAITE (mm) & (mml K (mml . EE (ko)
L2 (mm)  (mm) A1BEE  A2BEE ABEE  A2iBEE
150 220 70 - 35 80 2 1 -
200 270 120 55 20 160 3 1.2 1.4
250 320 170 105 45 160 8 1.4 1.6
300 370 220 155 30 240 4 1.6 1.8

13



HIWIN.
K02TC02-0807

14

a8 SEE FH 82
oy 51 4-M5x0.8Px8DP
KK60 [*&TE:) 2xm-M2.6x.45Px4DP 30 2xn-@5.5Thru
51.50P @9.5x4.7DP
42 {f
Wi— é /”//@ T ”z
Su.1 M S ] - | .
=1 [ aibsrael la 0 £ 1°
== & | &l el 6
30 15 n L———T
60 ‘ " 2-M2.6x.45Px3DP' ‘ 6
K G
A-A L2
L1
PCD40 4-M4x.7Px8DP 59
185 305
L 5
\%; 3, - A .
g*ﬂ. * \& e 7**5**7'/'/ | — i I r}f ] Qﬁ View B
oo % .l 3 . i 8
! 4-M3x.5Px8DP e B ‘ R
View B : L
A o0 G
(n-1)x100
MEREL2 2RL1 &RXI{TE (mm) 6(mml Kimml n 0 £ (kg)
(mm) (mm) A1 BRE A2 iBEE A1 BEE A2 iBEE
150 220 60 - 25 100 2 2 1.5 -
200 270 110 - 50 100 2 2 1.8 -
300 370 210 135 50 200 3 2 2.4 2.7
400 470 310 235 50 100 4 4 B 3.3
500 570 410 335 50 200 5 3 3.6 3.9
600 670 510 435 50 100 6 [ 4.2 4.6
« |
KK60 (EEEEY) o
2xm-M2.6x 45Px4DP 28 2-M5x0.8Px8DP
/ 10x1.50P H an-g o op
| % ‘ v 1 [ ¥
- 1] H e[’ D
ol [ =
e e el e dlelfe 1 U H
|15 a ] ‘ I
60 ‘ - 2-M2.6x.45PX3DP. ‘ 6
K G
A-A L2
L1
PCD40 4-M4x.7TPx8DP 59
185 _ 305
‘ % 11 *%y ‘
\Eg; 2 - T R .
g | (= e o . s e DA ( ) 8 )
<r“’. * 4 s — L i i — == @| ViewB
9 |, foua f% e | R i §
" Ly maxsexeop e /] 'ge }A [ 0
View B =
100 G
(n-1)x100
BEREL2 2RL1 &RXITE (mm) st Felio EE (kg)
- - mm mm) n m - -
(mm) (mm) S1BEE S2 iBEE S1 BEE S2 /B
150 220 85 34 25 100 2 2 1.4 1.6
200 270 135 184 50 100 2 2 1.7 1.9
300 370 235 184 50 200 3 2 2.3 2.5
400 470 8YH 284 50 100 4 4 2.9 3.1
500 570 435 384 50 200 5 3 3.5 3.7
600 670 535 484 50 100 6 6 4.1 4.3




KK86

HIWIN.
K02TC02-0807

75 4-M6x1Px12DP
46 2xn-2 6.6Thru, @11x6DP
60 15x2DP
46 =
" ‘1 r3 v 11 T Te
© L éi @g? f’f‘l @ ol e 5 & }
N ijl—‘er} E{%Jg 771777177,;77,#‘%7;7 777:777777,;77,;77,;, [ } 3
s |20 ol & Biel@e|P o \
86 ® 1T °
1 2-M2.6x.45Px4DP 75
A-A 2xm-M2.6x0.45Px4DP 200 H
(M1)x200 87
4-M4x0.7Px8DP 85 23 _ 50
13 28, =
| 18 o
° E77== N & A ==
%/ N %\ : 7] Ly =
[ e S )\ R ™ b I e s e S i| | {ol3d Views
of g g{ J' J gttt f ity | S S ——— i ————— | T = = 138
o 4 (/‘{ o/ . /] ‘p . . ! S
PCD60 - A -
100 35
PCD70 4-M5x0.8Px10DP (n-1)x100 0
) )
View B
L1
gEREL2 =RL1 RX{TE (mm) H (mml E£ (kg)
3 S mm n m 2 3
(mm]) (mm)  A1;BEE A2 iBIE A1 BEE A2 iBEE
340 440 210 100 70 3 2 5.7 6.5
440 540 310 200 20 4 3 6.9 7.7
540 640 410 300 70 5 8 8.0 8.8
640 740 510 400 20 6 4 9.2 10.0
740 840 610 500 70 7 4 10.4 11.2
940 1040 810 700 70 9 5 11.6 12.4
142.6
%5 4-M8x1.25Px15DP
2xm-M2.6x0445Px4DP\ 200 1_5D;i’ 2xn- @ 9Thru, @ 14x8.5DP
70 v o S e
= @ j A AR ) SO
@l 8 e/ —— — @,, — e
8 ;ag 3 ) ) Sl [ ope | o .
N = £ SO . = /l f
50 |25 1 4-M3x0.5Px6DP / __|8|__ e
100 200 H
A-A (m-1)x200
L2
L1
94
9 4-M5x0.8Px10DP 2z 3;15
15 i =
A m &
b . : T -8 —
- *’*’*1*7/*,’*’*’*jﬁ’*’*,’*l—_‘j”T - gﬂ
L. e e _ | g
X T i 0] RN 1 ST ==
1 f =
- 150 G
(n-1)x150
MEREL2 £RL1 &RXITE (mm) 6(mml Himml n . EE (k)
(mm) (mm) A1 BRE A2 iBEE A1 BEE A2 BRE
980 1089 828 700 40 90 7 5 18.6 20.3
1080 1189 928 800 15 40 8 6 20.3 22.0
1180 1289 1028 900 65 90 8 [ 22.0 23.7
1280 1389 1128 1000 40 40 9 7 23.6 25.3
1380 1489 1228 1100 15 90 10 7 25.3 27.0

15



HIWIN.
K02TC02-0807

16

KK130 ({Z#1)

157
108
70 4-M10x1.5Px20DP
2xm-M2.6x0.45Px4DP 4-M3x0.5Px6DP QOXS’DP 2xn-@1 Thru,@7.5x10.5DP
gg : v V“V‘ v | ] TD
”T\ | ® | @© o) ¥ [ ‘
o~ WL | T D B Y - U Y S 1 | o
Q8 ‘\L/ oo 777i;if,TJ’;Li;i;i;T77¢77775;j;ﬁ | 777 2
T 8% @ & & [ ¢ @ [
70|30 K i Adly
AA 200 H 12
(m-1)x200
L2
L1
8-M6x1Px12DP 100
128 35 35 3.5
121 29
100 18 16
/ A
Za I S s
g f@ ) [ s " ——|— e
i B I S I — - 1 I
Fir gl » ""g, IIII I:I.I T 7 [ i A |
n =
BEDI0 View B (n-1)x150 e 180 < g
MEREL2 2RL1 RA1TE (mm) S pra & - =8 (ko)
(mm) (mm)  A1BEE A2 ;B A1 BEE A2 BEE
980 1098 811 659 40 90 7 5 - -
1180 1298 1011 859 65 90 8 6 - -
1380 1498 1211 1059 90 90 9 7 - -
1680 1798 1511 1359 90 40 1 9 - -

View B



HIWIN.
K02TC02-0807

33 2X2-M3x0.5PX4DP
. 260 4-M4x0.7Px14DP
2x2-M2.6x0.45Px4DP . 2xn-@3.4Thru, 36.5x3DP
2 S UL o -
37 il i
‘ 35 ‘ __
L | .
S i - 8
° - o2 }
T R FIQI
18 _|_11
40 L1
A-A 49
10, 12 25
PCD29 4-M3x0.5Px6DP ‘—" ‘AA> 1:15—
TN /f —& & — ] =
/ Y » —— |
8 g f?‘ \{ - & PN E——— ﬂ”///* — Hcﬂ_i jﬁ — 7HE i ° '3;: View B
o [P 1] - < I 8
iR EASECHD il — A e B | o L
i * 1 | E—
) A 60 G
View B (n-1)x60
HMEREL2 =RLU BRAITE (mm) & (mm] . EE (kg)
(mm) (mm) A1 BEE A2 B A1 B A2 ;BB
100 159 36 - 20 2 0.55 -
150 209 86 34 15 3 0.68 0.76
200 259 136 84 40 3 0.82 0.89
2x2-M2.6x0.45Px4DP 2xn-®£.§T:[r;g e
62 . e 4-M4x0.7Px10DP
55
47
e
T ‘ ‘ M| —
335@[7 {}?) —wwlé ] F
25 125 2x2-M3;0.5Px4DP ~_|8[195 ] - 57
50 e
A-A L1
60
4-M3x0.5Px6DP 14, 34
PCD33 A 16.5
A 1]
1 5, . ' : 5
o 3 /\@ o /! d_l,;,ff,,,, n_¢ -8 f ViewB
L) e e— s e 3
k2 & [ o . o .
L
‘ A
View B | 80 G,
(n-1)x80
HEREL2 =KL BRAITE (mm) 6imml Kimml n £ (kg)
(mm) (mm) A1 BEE A2 SBEE A1 BEE A2 SBRE
150 220 70 - 35 80 2 1.1 -
200 270 120 59 20 160 3 1.3 1.5
250 320 170 105 45 160 3 1.6 1.8
300 370 220 155 30 240 4 1.8 2.0

17



18

HIWIN.
K02TC02-0807

KK60 (1ZE 1Y)

86 :j 4-M5x0.8Px8DP
74 T i
g; ‘ 2xm-M2.6x.45Px4DP ) % 2 7op
] LA i S o = ==ttt T LAy
! “ ® _ ,Zi@, TL@QJL ‘y [+ K 71 J¥ 8 09
2o My liNany iul ot —— Te=——LE_— @
*qw*ﬂy \\J }%4 @‘: ————— /v/':——% Liiﬁ,ﬁriﬁ‘ E*** r“@ o)
B T |88 [ P SR D | P — N
i " 7115 fifffqlLfffi,::::::‘f_; fL
D ++ D _16|_
- 2x2-M2.6x0.45Px4DP
A-A K G
2
L1
PCD4Q 4-M4x.7Px8DP 59
185 _ 3
A 15.5
= \@;\ . o 9l
£} Hf =
Eﬁm + e% WiTr/,%q:E:?—mij e [ } 1 Qg View B
d\ & ~ & 7 ? ’/’/ 3 :] N
’ (4-M3x.5Px8DP b Ll I
View B iy
100 G
(n-1)x100
PEREL2 £RL1 &RXTE (mm) 6(mml K (mm] E& (kg)
. : mm mm) n m = .
(mm) (mm)  A13BEE A2 BEE A1 BEE A2 BEE
150 220 60 - 25 100 2 2 1.7 -
200 270 110 - 50 100 2 2 2.1 -
300 370 210 135 50 200 3 2 2.7 3.0
400 470 310 235 50 100 4 4 3.3 3.6
500 570 410 335 50 200 5) 3 3.9 4.2
600 670 510 435 50 100 [} 6 4.6 5.0
W 1
KK60 (B2 55
59
. 28
74 2xm-M2.6x.45Px4DP 14 Z'MSXO'SPXSDPQS sth
o 5 56 5w TDP
| 62 ﬁ****v*j’f***”‘::::fuh —
i u o E AR CE T ]
i . QP B -o— \ ©
el == e
o 8 NI ) E + — 4 1
G e e R 1 D= = e S
30 |15 h Ot e[
60 2x2-M2.6x0.45Px4DP~ _|8]_| 10 .
A-A L2
L1
PCD40 4-M4x.7Px8DP 59
185 _ 305
A 155
= \ﬁ & o — o 9l
@) f =
2 m I — - Q
<rm. s &&/ 7777777*,/,/ 777\1— i ﬁff*qu_ == @ ViewB
3 | \EQJ\ NG .l " i S
T L4 max.5pxe0P AR n b
View B a
100 G
(n-1)x100
PEREL2 £RL1 &RXTE (mm) 6(mml K (mm] EE (k)
N . mm mm) n m N .
(mm]) (mm)  S138E S2 iBEE S1;8EE S2 B
150 220 85 34 25 100 2 2 1.6 1.8
200 270 135 184 50 100 2 2 1.9 2.1
300 370 235 184 50 200 3 2 2.5 2.7
400 470 335 284 50 100 4 4 3.1 3.3
500 570 435 384 50 200 5 3 3.7 3.9
600 670 535 484 50 100 6 6 4.4 4.6



HIWIN.
K02TC02-0807

116
112 75 4-M6x1Px12DP
‘ ‘ 138 ‘ [‘—’46 ‘ 2xn-@6.6Thru, @11x6DP
| |
Hi i ®_ U
1 i ‘ [
%Eu — i | o
I 933“'”' i [
46 B(l ‘
86
A-A
87
4-M4x0.7Px8DP. 85 13 A _@i 0 ~
_ o 18] s
S
LI A I L ol 21
1 . } < %’ View B
. ] . P RS
W W L} b L———
PCD70 4-M5%0.8Px10DP Al o 70 35
(n-1)x100
View B L2
L1
MEREL2 Z=EL1 =RXITE (mm) Himm) n o E£ (kg)
(mm) (mm) A1 BEE A2 ;BEE A1 BEE A2 5B
340 440 210 100 70 3 2 6.5 7.3
440 540 310 200 20 4 3 7.8 8.6
540 640 410 300 70 5) 3 9.0 9.8
640 740 510 400 20 6 4 10.3 11.3
740 840 610 500 70 7 4 11.6 12.4
940 1040 810 700 70 9 5 13.0 13.8
KK1 00 4-M8x1.25Px15DP
124 4-M3x0.5Px6DP
19150 ‘ me'M2'6X°'45PX4DP\ 2xn-@9Thru, B14x8.5DP
I N
I I
. \ ‘ |
3( R
N A R A
50 |25
100
A-A
94
32 4-M5x0.8Px10DP 27__ 45
5 &
-8
I| ViewB
. 8§
Ko _
! (n-1)x150
HEREL2 £ERLI BRAITE (mm) o b | - =8 (ko)
(mm) (mm) A1 BEE A2 iBEE A1BEE A2 iBEE
980 1089 828 700 40 90 7 5) 20.4 221
1080 1189 928 800 15 40 8 6 22.2 23.9
1180 1289 1028 900 65 90 8 6 24.0 25.7
1280 1389 1128 1000 40 40 9 7 25.7 27.4
1380 1489 1228 1100 15 90 10 7 275 29.2

19



HIWIN.
20  kozrcoz-0807



HIWIN.
Ko2Tco2-0807 21

ESEREEER A
KS052

2.1 F5iE

OF =i 1 95]

O EBREE

O A iEHHES

O SERBE £0.01mm

(OF ;37 1

O PhEESHREE

O EBEBENES) (LIBEE)

2.2 EFEWEE

O FPDE%

O g

O EEEsuEE

O FPDER It EEIEHIL
O ZRIEEBRIRIR




79 HIWIN.

K02TC02-0807

2. 3 BisRimbSaRaA

KS05

=04 -0200
BiZ2[mm] : 4
BERITHE [mm]

100-400 (100mm Pitch)

FBEFMRC: T4

-C -M1 D B -S1 -5 -F1
SEREIT
H: FR=EKE
F1: BB T RE
5: 5m(fZXE) A: 10m
ZEH: FHERIR
RBEFE R
S1: Omron SX-674A
BERN ZEH.: HEIRPRE R
MO : £
b B: S8E
M1 . =Z=50W
P1: 7 T50W 28 M

2.4 KSO5 (EE/BEE) RY

D: SRaE)As
R EiEE)ES

4-M4X0.7PX8DP 532 90
55T .
la o] o B 51 o 85— | @ g
o o W\l o
o J o
[© [0 ¢ o] =8 o B3 9]
2-@4H7 27
Effective Stroke 108.5
L
o7 52
s 41 4-M4X0.7PX8DP
o 29 PCD@46
= 1
= ("=
e
o]
=6\
50
(Nx100)+40 82 54
2-P4HTXEDP
e o]
00 —— —— o ® ©
©0 o - T 45%4 © ©
° \ o]
| 2x(N+1)-Max0.7PX7DP
Nx100 102
BRITE L - — .
By B8 (kg ACHESENE W) 50
(mm) (mm)
100 285 1 1.4 EIRBEE (mm) ZE#RC: £0.02
200 385 2 1.7 E#2 (mm) 4
300 485 3 2 BT (mm) 100~400 (100 Pitch)
400 585 4 2.3 HERHR(m) 5(f2#E)~ 10



2.5 BisRimiSaERaA

HIWIN.
K02TC02-0807 23

KSO05 =04 -0200 -C -2 =M1 D B -S1 -5 -F1
EoGaW
B2 AT
Biz[mm] - 4 T FR=EEE
R F1: BT HE
BEWITRE [mm]
100-250 (50mm Pitch) BELERR
I - 5: 5m(Z#E) A: 10m
FBEESMRC 12 TH: |IERR
BEHE R PR FRRE
2. EEEREE S1: Omron SX-674A
EH. BBk T ETRFRE
. B: 2%
BiERL oo
MO : 5 BN e
M1 : =&50W s=EE
P1.FATS0W DsEaE
D: BREENES
B HERE)ES
2.6 KSO05 (85 RY
37 90
4-M4X0.7PX8DP 55
551 )
lo| =0 o83 b oo Cold O o837 ol g
o o o
o (<] “ J‘) (<]
0] = oo CO {99 ot [
2-@4H7 27
EffectiveStroke EffectiveStroke 108.5
L
97 52
55 41 ;—glstégéwxsop
[ ] !_ —
(Nx100)+40 82
2-@4H7X5DP
e o]
@0 o @ © 9 I ® ©
° \ o]
2x(N+1)-M4X0.7PX7DP
Nx100 102
RATR =R BE (kg ACHRSENE W) 50
(mm) (mm)
100 511 3 2.3 EIREE (mm) ZFHRC: £0.02
150 611 4 2.5 BFE (mm) 4
200 711 5 2.8 BHITIE (mm) 100~250 (50 Pitch)
250 811 6 3 ERR(m) 5(1Z#) 10



HIWIN.
24 KozTco2-0807



HIWIN.
K02TC02-0807 25

ESElIRAR A
KSE!

3.1 it

O EBRaeE

O HEEZEERClass 10~100
O A iEHHES

O WEACERSEGELL)
O SERBE +£0.01mm

O PHEESREE

O BE&k1TIE

3.2 EAMEE

O FPDE%

O g

O BEaatE:
O FPDEIRIME
OF -3 [EVE o]




HIWIN.
K02TC02-0807

26

3.3 BiRiRiSERAA

KS10 -10 -0400 -C -M2 D B -S1 -5
AU,
E#2[mm] : 10,20 RELERIR
5: 5m(Z#E) A: 10m
BBATEE Imm] ZEH: FIERR
200-800 (100mm Pitch)
1RBR AR
S1: Omron SX-674A
SR S
-l . ;X
P BIRE - C. 12 S RITRRR
B: E8%E&
— RE.
MO :
M2 : =Z100W EiEERE)R
P2:#AT100W D.=ERE)se
ZEH: MEEEER
3.4 KS10RY
198
. 83 Approx.250 100
28 Air coupler (Motor cable length) 70
| — f T o
]
8 0
2 8 A
<« %] ] = =
4-M6X1PX12DP 2-@6H7X8DP
268 Effective Stroke
Brake L
15 47£ [ o o | o o 1
LO‘ © IC]
™| v
i 50
. . (With Brake)
A Section detailed chart 2x(N+1)-M5X0.8PX10DP
2 / _ _ ¥ + - ,
8
¥ % + = >
sl
60 Nx150
110
(With Brake)
WITIE = .
o Foliat- By BB (kg ACHEBEDE W) 100
(mm) (mm)
200 600 3 9.1 HE4Ee,
" FEHRC: £0.01
300 700 4 9.8 ERIBE (mm FH#RP: £0.005(8273[@)
400 800 4 105 MEEER Class 100 (HSHRAET)
500 900 ° 1.2 B2 (mm) 203410
600 1000 6 11.9 o _
700 1100 6 12.6 BRITE (mm) 200~-800 (100 Pitch)
800 1200 7 13.3 FERHR(m) 5(1R%E)~10



3.5 EiSRiRISREA

KS14

BT

-20 -0600

EFZ[mm] : 10, 20

BRITE [mm]

200-1100 (100mm Pitch])

BESH

P SHEE » C: 1B%

3.6 KS14RYT

136

A Section detailed chart

BRITE
(mm)
200
300
400
500
600
700
800
900
1000
1100

-C

HELN
MO : &

-M3 D

HIWIN.
Ko2TC02-0807 27

B -S1 -5

5: 5m(IEE) A: 10m
TH: MIERR
fEIRAIRA
S1: Omron SX-674A
ZEE: B PRFE R

B: S8E
. FERE

D: EfEE)a%

M3 : =Z200W Zopy. dmERE)SS
P3: M ~200W

198
Approx.250 100
(Motor cable length) 70
e o o] [# & <] ]
©
3
©
r# « <] | [+ % 4] ©
4-M6X1PX12DP 2-@6H7X8DP
363 Effective Stroke
Brake L
1 o o] o o 1
50
(With Brake)
2x(N+1)-M6X1PX12DP
® [ * 4 ° 4 ‘e H +°
3
- + + + +
e ® ) ® ')
sl
75 Nx200
125
(With Brake)
QE = =] 3 7
(mm) N BE (kg) ACEHIRFEEIIE (W) 200
700 3 13.5 =
= ZFifRC: £0.01
800 3 14.7 BRI (mm) Z4RP. +0.005(8575)
900 4 15.9 "
1000 4 171 MERER Class 100(fiSRAREET)
1100 5 18.3 e
1200 5 195 B2 (mm) 208510
1300 6 20.7
BT 200~1100 (100 Pitch
i A e BRITEE (mm) ( itch)
1500 7 23.2 .
FEFRHR (m) 5(1R%) 10
1600 7 24.4



HIWIN.

2 8 K02TC02-0807
! =
3.7 BifiRiSEREA
KS18 =20 -0600 -C -M4 D B -S1 -5
T, SEEER
. 5: 5m(fZ%] A: 10m
B#2E[mm] : 10,20 0. MEEE S
BRUTAE [l RE
200-1200 (100mm Pitch) S1: Omron SX-674A
2B HEIRPRER R
*%f_g_%m B: E8E
P. S¥5E - C. &% IEH. B
BIERRSZ:
. D: EEEENES
BERRN Il
MO - 2 ZTH: EIRENES
M4 . =Z400W
3.8 KS18RTJ P4 : fAT400W
220
128
114 Approx.250 100
88 (Motor cable length) 70
I! ¢>¢‘ Y 49 e+ ¢ 4o d
T ® °
8 o | I2 >
o) - ]
© /[
g [p7 & %o _Jor + +o]__] 9
B 212 Air coupler /| ™ 4-M8X1.25PX16DP 2-@6H7X8DP
22 4-M6X1PX12DP
350 Effective Stroke
15 .4 15 Brake| L
1 3 T ] |
s I "
—— D ° ° e / ° ®
=g
25 | lall 15 %
o ) (With Brake) 2x(N+1)-M8X1.25PX16DP
B Section detailed chart
¥ ¢ & ¢ &
(N
d a ks k3
5]|
75 Nx200
125
(With Brake)
Hh/=12 g N
RAITE Y BE ko) ACHRBEVE (W) 400
(mm) (mm)
200 710 3 16.5 - Z4RC: +0.01
300 810 3 18.1 EREE (mm Z4RP: +0.005(88750)
400 910 4 19.7
500 1010 4 21.3 EEEER Class 100(f5RAREET)
600 1110 5 22.9
700 1210 5 24.4 B2 (mm) 203510
800 1310 6 26
900 1410 6 27.6 BRI (mm) 200~1200 (100 Pitch)
1000 1510 7 29.2
1100 1610 7 30.8 .
EES 5(1F%E) 10
1200 1710 8 323 el =S



HIWIN.
K02TC02-0807 29

ERERIE R A
KAZ

L1 51

O ZREWERS

O EERR

O S

O SERBE X0.01mm
O WEACEHRSEGELL)
O ERkiTIE

4.2 EFEE

O SHEEBEE

O FPDE#

O EEnERIgE
O EacRBEEAE
O E#uiase




30

HIWIN.
K02TC02-0807

4.3 BISRiRISERAA

KA10 -10 -0400
i5ay
Bi2[mm] : 10,20
BWITEE [mm]

200-800 (100mm Pitch)

BEER
P. SHE8E » C. 124

L4 KAMORY

-C -M2

RIERIT

MO :

M2 : =& 100W
P2:#A~N100W

D B -S1 -5
5: 5m(fR%E] A: 10m
TR HIERR
fRERFEEE
S1: Omron SX-674A
B LR R
B: SE
ZEH: HERE

D: SR&EENER
ZEH: ERRE)AR

75 66
16, &\ N Approx.250 30
135 ] q;qlsb (Motor cable length)
| A '
8.25 4-M6X1PX12DP 2-@4H7X8DP
275 Effective Stroke
15 4 15 Brake L
™ —=
u =] 7
—R_j:li €] 5] © [€]
A Section detailed chart 50
(With Brake)
2x(N+1)-M5X0.8PX10P
& / & + + .
= kY % > <
15
50 Nx150
100
(With Brake)
BRITE =R - — .
N BE (kg) ACEHIRFBEIIR (W) 100

(mm) (mm)

200 600 3 7.8 . Z4RC: +0.01

300 700 4 8.5 HIRME (mm) F#RkP: £0.005(8875/@)
400 Sl 4 7.1 Bi2 (mm) 208%10

500 900 B 9.7

600 1000 6 10.4 BRTE (mm) 200~800 (100 Pitch)
700 1100 6 11 -

)
800 1200 7 16 FEFRHR(m) 5(1F) 10



4.5 BYSEiRISERAA

N

4.6 KAMLRY

85
7.5 i
15.5 WSDW,Q

136

12

1.5 4 15

“‘3.5

o4

—
|

5s

5.5

8.3

2114|12

A Section detailed chart

BRITE
(mm)
200
300
400
500
600
700
800
900
1000
1100

Approx.250
(Motor cable length)

HIWIN.
K02TC02-0807 3]

-S1 -5
5: 5m(Z#E) A: 10m
R HIERER
1iR PR 72

S1: Omron SX-674A
ZPH: HIRPRFE R

KA14 -20 -0600 -C -M3 D
BFE[mm] : 10, 20
BT [mm]
200-1100 (100mm Pitch)
BEFR
P: E¥EE » C. 1B
SiERT
MO :
M3 : =Z200W

P3: A F200W

D: EfEE)as
R HEEE)eS

Brake

50 ]

(With Brake)

2X(N+1)-M6X1PX12DP

2X(N+1)-@6.5 through,thickness 7

@ o {/ . *
g8 H )
= ° ©
20
90 NX200
140
(With Brake)
=R — = ST
(mm] N BE=(kg) ACHIREZEINZE (W) 200
730 3 14.1
o Z4RC: +0.01
830 3 15.4 SRBE (mm) Z45P: +0.005(8575F)
930 4 16.6
1030 4 17.9 SE12 (mm) 208%10
1130 5 19.2
1230 5 20.5 o
1330 6 217 BT (mm) 200~1100 (100 Pitch)
1430 6 23
1530 7 24.3 FERHR(m) 5(12%E) 10
1630 7 25.5




HIWIN.

32  Kko02TC02-0807
1|8 .
4.7 BUSRiRISEREA
KA18 -20 -0600 -C -M4 D B -S1 -5
| |
iy .
Eo5ay BELERR
o 5: 5m(1Z#E) A: 10m
Ef2[mm] : 10, 20 7o, FHEEE
BRUITIE [mm] 1TPRASRS
200-1200 (100mm Pitch) S1: Omron SX-674A
S 2B HERPR AR
BESHR = ag
P: BB - C: 12 B: ZHES
BN FRE
SSERIT SiEEEEs
MO : #& D: SEEENZR
M4 . =Z400W 7o, MERE)SE
P4 : fATN400W
4.8 KAISRY
95 Approx.250 155
&,21 (§ng (Motor cable length) 1%
_ A ]
SEEE 38 ; :
7m
b A 4-M8X1.25PX16DP 2-@6H7X8DP
- 4-M6X1PX12DP
15 4 15 365 Effective Stroke
© Brake L
1] o
— 1 Y
|7 © 75%:% ;q
o o} ~
10 w‘ €] €] ] /‘ 4 [ ] -
25 _||4]|_15 |_s0,_| b
A Section detailed chart (With Brake) 2x(N+1)-29 through, thickness18
. | |
a o & & } } @
| ||
3 E i
B |
— d @ @ | ®
20 [
90 Nx200
140
(With Brake)
BRITE S - _ .
AATH a N BE(kg) ACHBSENE (W) 400
(mm) (mm)
200 740 3 175
il :i .
300 840 3 19.2 BIREE (mm) g%g ig.g:)S[ﬁﬁl'ﬁ]]
400 940 4 20.9
500 1040 4 22.5 -
600 1140 5 24.2 BAE (mm) 20
700 1240 5 25.9
800 1340 6 27.3 BT (mm) 200~1200 (100 Pitch)
900 1440 [ 29.2
1000 1540 7 30.9
1100 1640 7 325 HERHR(m) 5(f2%#) 10
1200 1740 8 34.2



HIWIN,.

Linear Motion Products & Technology

H IIWN mE B S 20 =05 - B8
® HIWIN GmbH HIWIN USA

Linear Motion Products & Technology OFFENBURG, GERMANY CHICAGO - SILICON VALLEY, U.S.A.
www.hiwin.de www.hiwin.com

www.hiwin.eu
o BHE #F - 25 - FHE - S
mt &% HIWIN JAPAN
LB BRAT HIWIN SCHWEIZ KOBE - TOKYO - NAGOYA
HIWIN TECHNOLOGIES CORP. JONA, SWITZERLAND KUMAMOTO, JAPAN
407688 A T2 E375R465E www.hiwin.ch www.hiwin.co.jp
Tel : (04)-23594510
Fax: (04)-23594420 1B fhiEss
www.hiwin.com.tw HIWIN S.R.O.

business@mail.hiwin.com.tw
BRNO, CZECH REPUBLIC
www.hiwin.cz

HE ERE
KIBMRABDBERAT HIWIN FRANCE
HIWIN MIKROSYSTEM CORP. L'A|GL!5 (;edex,FRANCE
L08E TS E EERIER 78R R
Tel : (04)-23550110
Fax: (04)-23550123

www.hiwinmikro.com.tw
businessf@mail.hiwinmikro.com.tw

©2008 FORM K02TC02-0807
(PRINTED IN TAIWAN])





